Homework 2 Solutions

CSE444

3.3.1 Customers (SSNo, name, addr, phone)

Flights (number, day, aircraft)

Bookings(number, day, SSNo, row, seat)

3.6.2  Note the distinction between nontrivial and completely nontrivial dependencies.  I only list the completely nontrivial ones here. 


(i) a)
A(B, A(C, A(D, AB(C, AB(D, AC(D, AC(B, AD(C, AD(B,

ABC(D, ACD(B, ABD(C, B(C, B(D, BC(D, BD(C

b) A

c) AB, AC, AD, ABC, ABD, ACD, ABCD

(ii) a)
AB(C, AB(D, BC(D, BC(A, CD(A, CD(B, AD(C, AD(B, ABC(D, ABD(C, BCD(A, ACD(B

b) AB, BC, CD, AD

c) ABC, ABD, BCD, ACD, ABCD

3.5.3 I'm using the solution set I put up for HW1.  I interpreted this question to mean 'give the keys of all relationships resulting from each assumption about births'.  

original relationship- (babies_key, mothers_key, nurses_key, doctors_key)

a) births key- (mothers_key, doctors_key, nurses_key)

mom_of key- (babies_key)

b) births key - (babies_key, nurses_key, doctors_key)

c) births key - (nurses_key, mothers_key, babies_key)

doc key - (babies_key, mothers_key)

